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Sve. E Y= 3L-2
J° x+ 2

Solve 2 ZP - 3‘L= -2
bp +4 =24

Fud (al) Woe Fa +2) =16 s

Solve 2x -3y -2z =3
Za +32=1
z=h

Solve 2x+3y —2="1
3y - Y+ 22 = 17
Ex+ty + 2= F

-21a —6b = 24
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Solw‘ua Simutbaneous Linear l:’me ba Subsbitukion

Solve Z 2p -29=-2 —O
m© q = 2 —4p

lp— Fr+12p = -2
ep-32 = -2
lkp = 30O
— 9 _
P™ >
7,: 2% —Ux§
= 2 — 20 :90

(PW[) = (S/ @)
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Solviua Simutbaneous Linear ELmﬂm "’3 Sibsbibwkions

Fud (al) Woe Fa +2h =16 sk -21a —6b =24
2’4&4%—_!4 &S b>hb-Fn © h=y-F4x

A -bb =2y — @

| ‘ZlA—éB =24

Sub b (@)

Ab -21aa - é(? = 1,;0\) = 2«
| Fa+42b = 16 U — 4y + 2a = 2¢
Y4y =24
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Solve é

Solw‘ua Sivutbaneous Lingar ELWM by Subskitukions

2 x - 3y -22=3 —0

la +32:=14
z2=5

@
@

Q: 2=5
b Wo @
21 + 2xS =9
2~a+lS"=0l
2= ¢
y=-3
Sb e (O

2x -3x(3) ~2(5)=%

L +9q -lo =3
2re=-1=7
2=
= 2.
Solbn (xyy=( 2, -3,5)
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Solw'na Simutbaneous Linear ELmioM ba Subsbitukion

3x - yr22 =13 —@ L Sib W (D!

Solve éuma_z—_-z—-@ < Z=2x4+3y+T
Ex+t = F —Q
xréey + 2 —Q) 37(:‘34—2,(’2)(.4—3\3 +1) =13

o Sub. 2= 2Lxk Pyt e X 3x-y+ridx +éb4—'-(f—-l@
5y 4—6\0 A (2x+3y+2) =4 _
3 % "l’5 _q _— 2!
S 9= -@
So
Fc= S—ﬂlg )= %_ = %,(-l\
ol = 2 — o p = oy _
v 9 i @ | 4532




